Comprehension-9
PASSAGE 

In the following passage, there are blank, each of which has been
numbered. These numbers are printed below the passage and
suggested, one of which fits the blank appropriately. Find out the
appropriate word in each case.
Man is an intelligent thinking creature who uses his ....(1) ....
primarily to calculate exactly how much satisfaction he may
....(2)... from the smallest amount of effort, or when necessary,
how much discomfort he can ....(3)... 'Satisfaction' does not mean
...(4)... in one's job, the feeling of having ...(5).... something, or
even the regard of others; it refers only to money. Similarly,
'discomfort' refers not to failing in one's task or losing the ....(6)...
of one's comrades, but solely to the.... (7)... of starvation.
Economic man is naturally ....(8)...., basically self-interested, and
in the battle of life strives hard to ...(9)... ever other man; so far
from helping the weak or the underdog, his sole ....(10).... is with
his very own survival.

1. (a) Reason (b) Attention (c) Memory (d) Time (e) Liking

2. (a) Retain (b) Obtain (c) Arrive (d) Evolve (e) Perceive

3. (a) Develop (b) Attribute (c) Visualize (d) Criticize (e) Avoid

4. (a) Trust (b) Belief (c) Increase (d) Pride (e) Excel

5. (a) Nurtured (b) Evaluated (c) Accomplished (d) Established
    (e) Attributed

6. (a) Position (b) Respect (c) Status (d) Value (e) Comfort

7. (a) Damage (b) Calamity (c) Future (d) Fear (e) Association

8. (a) Competitive (b) Social (c) Critical (d) Supportive (e) Ethical

9. (a) Outflank (b) Outgrow (c) Outwit (d) Outpour (e) Outbreak

10. (a) Brooding (b) Achievement (c) Power (d) Possession
     (e) Concern

ANSWERS

	1
	A

	2
	B

	3
	E

	4
	D

	5
	C

	6
	B

	7
	D

	8
	A

	9
	B

	10
	E


